Name ________________________________

Date _______________ Per ______________

Radioactive Decay Activity

Objective: To develop a model of radioactive decay using everyday items to represent the radioactive isotope

Procedure: 
1. Count the number of candies and place them in the container. Record the number of candies you started with.
2. Place your hand over the cup and shake it one time and pour the candies on the table.
3. Remove all of the candies that landed face down. Record this number on the data chart.

4. Replace the remaining candies in the container.
5. Repeat steps two through four until all the candies have been removed
Data Chart:

	Trial Number
	# Starting  Candies
	# Candies Removed

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	

	6
	
	

	7
	
	

	8
	
	

	9
	
	

	10
	
	

	11
	
	

	12
	
	

	13
	
	

	14
	
	

	15
	
	


Graph your data: Create a Line Graph. Place Trial Number on the X axis and #Starting Candies on the Y axis. Connect the plotted points to show the trend. 
Analysis

1. What did the number of “starting candies” represent? 

2.  What did the “# of candies removed” represent?

3. What did each shake represent?

Conclusion (Use complete sentences. Use data from your experiment to justify your conclusion)

In your own words describe how this experiment modeled radioactive decay. Compare the half life results in your experiment to the expected results. 

Half Life Table
	# of half lives
	0
	1
	2
	3
	4
	5

	Parent
	100 %
	50 %
	25 %
	12.5 %
	6.25 %
	3.125 %

	Daughter
	0 %
	50 %
	75 %
	87.5 %
	93.75 %
	96.875 %


Radioactive Element 
Half Life (years) 
Dating Range 


Carbon-14 
5730 
500 - 50000 


Potassium-40 
1.3 billion 
50 000 - 4.6 billion


Rubidium-87 
47 billion 
10 million - 4.6 billion 


Thorium-232 
14.1 billion 
10 million - 4.6 billion 


Uranium-235 
713 million 
10 million - 4.6 billion 


Uranium-238 
4.5 billion 
10 million - 4.6 billion 

Calculate the number of half-lives and the absolute age of the following items: 

1. Animal remains found in ice contained 3.125% carbon-14 and 96.875% nitrogen-14 


# of half-lives = 

Absolute age = 

2. Igneous rock contains 12.5% uranium-235 and 87.5% lead-207


# of half-lives = 


Absolute age = 

3. Rock found in Australia containing 50% uranium-238 and 50% lead-206 


# of half-lives = 


Absolute age =

4.  Mummy found in Egypt containing 6.25% carbon-14 and 93.75% nitrogen-14


# of half-lives = 


Absolute age = 

5.  Rock from South Africa containing 12.5% potassium-40 and 87.5% argon-40


# of half-lives = 


Absolute age = 

